

DIVISION 13

CONTRACT PROPOSAL SMALL BUSINESS ENTERPRISE

DATE AND TIME OF BID OPENING: APRIL 7, 2021 AT 2:00 PM

CONTRACT ID:

11950325

WBS ELEMENT NO.:

13RE.110011, 13RE.210011, 13RE.210021

FEDERAL AID NO.: STATE FUNDED

COUNTY: YANCEY

TIP NO.:

N/A

MILES:

N/A

ROUTE NO.: VARIOUS PRIMARY AND SECONDARY ROUTES

LOCATION: VARIOUS

TYPE OF WORK: TREE SERVICE WORK UPON REQUEST

NOTICE:

This is a Small Business Enterprise Program project, and as such, is restricted to businesses grossing less than \$1,500,000 during the previous calendar year (5% tolerance). A general Contractor's License is not required, and the Department's normal bonding requirements are waived, however liability insurance is required. A copy of the previous year's income tax return as evidence of qualification does not need to be submitted at this time but could be required upon notification by the Department.

Carver Contracting. LLC

NAME OF BIDDER

750 Tallulah Road, Robbinville, NC 28771

ADDRESS OF BIDDER

RETURN BIDS TO:

Contract Number: 11950325

TIP Number:

N/A

FA Number:

N/A

WBS Element:

13RE.110011, 13RE.210011, 13RE.210021

Description:

Tree Service Work Upon Request

County:

Line No.	Sect	Description	Quantity	Unit	Unit Price	Amount Bid
1	SP	Tree Service Option 1	300	HR	\$220.00	\$66,000.00
2	SP	Tree Service Option 2	300	HR	\$280.00	\$84,000.00
3	SP	Tree Climbing	100	HR	\$75.00	\$7,500.00
4	SP	Emergency Tree Service Mobilization	20	EA	\$1,950.00	\$39,000.00

T	О	TAL	BID	FOR	PRO	JECT:	\$196,500.00

Contractor: Carver Contracting, LLC			
Address: 750 Tallulah Road, Robbinsville, N	NC 28771		
Phone: 828-479-3581	_Federal Id: _	27-2230858	
Contractor's License Number: N/A			
Authorized Agent: James Carver		Title: Member	
Signature:		Date: 04/06/21	



DIVISION 13

CONTRACT PROPOSAL SMALL BUSINESS ENTERPRISE

DATE AND TIME OF BID OPENING: APRIL 7, 2021 AT 2:00 PM

CONTRACT ID:

11950325

WBS ELEMENT NO.:

13RE.110011, 13RE.210011, 13RE.210021

FEDERAL AID NO.: STATE FUNDED

COUNTY:

YANCEY

TIP NO.:

N/A

MILES:

N/A

ROUTE NO.: VARIOUS PRIMARY AND SECONDARY ROUTES

LOCATION: VARIOUS

TYPE OF WORK: TREE SERVICE WORK UPON REQUEST

NOTICE:

This is a Small Business Enterprise Program project, and as such, is restricted to businesses grossing less than \$1,500,000 during the previous calendar year (5% tolerance). A general Contractor's License is not required, and the Department's normal bonding requirements are waived, however liability insurance is required. A copy of the previous year's income tax return as evidence of qualification does not need to be submitted at this time but could be required upon notification by the Department.

Rock Creek Grading U.C.

NAME OF BIDDER

9 Rock Wall Ln. Burnsville UC 28714

RETURN BIDS TO:

Contract Number: 11950325

TIP Number: FA Number:

N/A N/A

WBS Element:

13RE.110011, 13RE.210011, 13RE.210021

Description:

Tree Service Work Upon Request

County:

Line No.	Sect	Description	Quantity	Unit	Unit Price	Amount Bid
1	SP	Tree Service Option 1	300	HR	\$275	\$82,500
2	SP	Tree Service Option 2	300	HR	\$ 300	\$ 90,000
3	SP	Tree Climbing	100	HR	# 350	# 35,000
4	SP	Emergency Tree Service Mobilization	20	EA	\$ 500	\$10,000

TOTAL BID FOR PROJECT:	#21	7, 50	00	
Contractor: Rock Creek Address: 9 Rock Wall Ln. 1	Grading	LIC		
Address: 9 Rock Wall Ln.	Burnsville	NC	28714	्रांत्र ह
Phone: 828-284-2609	Federal Id	:		79153Y
Contractor's License Number:				
Authorized Agent: Nicholas Silve	ws		Title:	Member vice President
Signature: Wicholas She			Dat	Member Vice President te: 3/20/21



DIVISION 13

CONTRACT PROPOSAL SMALL BUSINESS ENTERPRISE

DATE AND TIME OF BID OPENING: APRIL 7, 2021 AT 2:00 PM

CONTRACT ID:

11950325

WBS ELEMENT NO.:

13RE.110011, 13RE.210011, 13RE.210021

FEDERAL AID NO.: STATE FUNDED

COUNTY: YAN

YANCEY

TIP NO.:

N/A

MILES:

N/A

ROUTE NO.: VARIOUS PRIMARY AND SECONDARY ROUTES

LOCATION: VARIOUS

TYPE OF WORK: TREE SERVICE WORK UPON REQUEST

NOTICE:

This is a Small Business Enterprise Program project, and as such, is restricted to businesses grossing less than \$1,500,000 during the previous calendar year (5% tolerance). A general Contractor's License is not required, and the Department's normal bonding requirements are waived, however liability insurance is required. A copy of the previous year's income tax return as evidence of qualification does not need to be submitted at this time but could be required upon notification by the Department.

NAME OF BIDDER

ADDRESS OF BIDDER

RETURN BIDS TO:

Contract Number: 11950325

TIP Number: FA Number:

N/A N/A

WBS Element:

13RE.110011, 13RE.210011, 13RE.210021

Description:

Tree Service Work Upon Request

TOTAL BID FOR PROJECT: 선 222,000

County:

Line No.	Sect	Description	Quantity	Unit	Unit Price	Amount Bid
1	SP	Tree Service Option 1	300	HR	250.00	75,000
2	SP	Tree Service Option 2	300	HR	350,00	105,000
3	SP	Tree Climbing	100	HR	380.00	38,000
4	SP	Emergency Tree Service Mobilization	20	EA	200.00	4,000

Contractor: Griffey Tree	service INC	
Address: 240 Buckwood	Or Marshall N.C.	28753
Phone: 828 - 380 - 0564	Federal Id:	
Contractor's License Number:		
Authorized Agent:	Title: _	OWNER
Signature: Worles & Shriffey	Date	e: 3-18-21



DIVISION 13

CONTRACT PROPOSAL SMALL BUSINESS ENTERPRISE

DATE AND TIME OF BID OPENING: APRIL 7, 2021 AT 2:00 PM

CONTRACT ID:

11950325

WBS ELEMENT NO.:

13RE.110011, 13RE.210011, 13RE.210021

FEDERAL AID NO.: STATE FUNDED

COUNTY: YANCEY

TIP NO.:

N/A

MILES:

N/A

ROUTE NO.: VARIOUS PRIMARY AND SECONDARY ROUTES

LOCATION: VARIOUS

TYPE OF WORK: TREE SERVICE WORK UPON REQUEST

NOTICE:

This is a Small Business Enterprise Program project, and as such, is restricted to businesses grossing less than \$1,500,000 during the previous calendar year (5% tolerance). A general Contractor's License is not required, and the Department's normal bonding requirements are waived, however liability insurance is required. A copy of the previous year's income tax return as evidence of qualification does not need to be submitted at this time but could be required upon notification by the Department.

Robbins ville

IDDRESS OF BISBER

RETURN BIDS TO:

Contract Number: 11950325

TIP Number:

N/A N/A

FA Number: WBS Element:

13RE.110011, 13RE.210011, 13RE.210021

Description:

Tree Service Work Upon Request

TOTAL BID FOR PROJECT: #229, 500, 00

County:

Line No.	Sect	Description	Quantity	Unit	Unit Price	Amount Bid
1	SP	Tree Service Option 1	300	HR .	\$325.00	\$97,500,00
2	SP	Tree Service Option 2	300	HR	8400,00	128,000,00
3	SP	Tree Climbing	100	HR	60,00	£ 6,000,00
4	SP	Emergency Tree Service Mobilization	20	EA ·	300,00	\$6,000,00

Contractor: Chad H. Burchfield dba Burchfield's Tree Service Address: 20 Hydefown Rd. Robbinsville NC 2877/ Phone: (828) 735-2508 Federal Id: 27-0308462
Address: 20 Hydefown Kd. Kobbinsville, NC 28771
Phone: (828) 735-2508 Federal Id. 27-0308462
Contractor's License Number:
Authorized Agent; Chad H. Burchfield Title: Owner
Signature: Chal H, Burdfild Date: 4-6-21



DIVISION 13

CONTRACT PROPOSAL SMALL BUSINESS ENTERPRISE

DATE AND TIME OF BID OPENING: APRIL 7, 2021 AT 2:00 PM

CONTRACT ID: 119

11950325

WBS ELEMENT NO.:

13RE.110011, 13RE.210011, 13RE.210021

FEDERAL AID NO.: STATE FUNDED

COUNTY:

YANCEY

TIP NO.:

N/A

MILES:

N/A

ROUTE NO.: VARIOUS PRIMARY AND SECONDARY ROUTES

LOCATION: VARIOUS

TYPE OF WORK: TREE SERVICE WORK UPON REQUEST

NOTICE:

This is a Small Business Enterprise Program project, and as such, is restricted to businesses grossing less than \$1,500,000 during the previous calendar year (5% tolerance). A general Contractor's License is not required, and the Department's normal bonding requirements are waived, however liability insurance is required. A copy of the previous year's income tax return as evidence of qualification does not need to be submitted at this time but could be required upon notification by the Department.

Louin Equipment & Sales, Inc.

756 Sweetwater Koad, Kobbinoville, NC 2877/

RETURN BIDS TO:

Contract Number: 11950325

TIP Number:

WBS Element:

N/A

FA Number:

N/A 13RE.110011, 13RE.210011, 13RE.210021

Description:

Tree Service Work Upon Request

TOTAL BID FOR PROJECT: # 264, 500. 60

County:

Line No.	Sect	Description	Quantity	Unit	Unit Price	Amount Bid
1	SP	Tree Service Option 1	300	HR	\$ 395.00	\$118,500,00
2	SP	Tree Service Option 2	300	HR	\$445.00	\$133,500.00
3	SP	Tree Climbing	100	HR	\$75.00	\$ 7,500.00
4	SP	Emergency Tree Service Mobilization	20	EA	# 250.00	\$5,000.00

Contractor: Louis Equipmen	t and Sales, Inc. Road, Robbinsville, NC 28771
Address: 756 Sweetwater	Road, Robbinsville, NC 28771
	Federal Id: 06-1676329
Contractor's License Number:	
Authorized Agent: Haley W. LOVIN	Title: President
Signature Willey in Y nin	Date: 3/10/21
, , , , , , , , , , , , , , , , , , ,	I I